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May 28, 2015
MAC 2313.8326
Cyr
Quiz 3
You must show all work to receive full credit!!
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Problem 1. (3 pts) Solve the initial value problem r'(¢) = <m, 1 et_2> with
r(2) = (8,-3,2).
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Problem 2. (4 pts) Find the equatlon of the tangent line to the graph of r(t) =
(cos(2t),sin(2t), 2t) at t = z
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Tangent line has equation [T=<"3, B 25+ 1< -"wo?ﬂ

Problem 3. (3 pts) Calculate the arc length of the curve r(t) = (cos(2t),sin(2t), 2t) on
the interval 0 < ¢ < 2m.

From #2, T 2 <= Asin(at), Aces (AE), > 50
L= J 7@ dt = fz"r,qsef(zf)f Jeost(a11Y At = [ Erﬁ@ﬁélmdf
(o] o’
2 . T
fW\H % dt = &Ji%/o . lﬂ'@

1

N
s

N

X
%




